3agauya Nel
P makc.nag. = (P min Bk — P yer.pab.) / 2,5 = (280-10)/2.5=108 aTm.
P BbIix. = P min Bk — P makc.maa.=280-108=172 arm.

T 06m1. = (P min Bka — P ycr.pa6.) * Vo/ 40 * Kex=(280-10)%6.8/40%1.1=41.7
MMUH.

T Bo3sp. = T BKa. + T 06m.= 19°°+0*-"=20""7 mun.

P1BKka-P1ouar =P 1 nag=300-250=50aTm

P 2 Bka - P 2 ouar = P 2 nan=280-265=15aTm

P 3 Bki - P 3 ouar = P 3 nan=290-260=30atm

P k.Bbix. = P makc.mag. + 1/2P makc.nmaa. + P yer.pa6=50+25+10=85atm

T pa6. = (P min ouar — P k.BbIX.) * V0 / 40 * Kck=(250-
85)*6,8/40%1.1=25.5mMun

T k.BbIX. = T ouar. + T pa6.=19*+0>°=19"">mumn.
3agaua Ne2
P makc.mag. = (P min Bk — P yer.pa6.) / 2,5 = (270-10)/2.5=104 aTm.
P BpIX. = P min Bk — P makc.maa.=280-104=166 atm.
AT =P makc.nmag. * Vo /40 * Kexx=104*7/40%1.1=16.5Mun

T BbIX. = T BKJI. + AT=024+0!%5=02' mun

3agaua Ne3

T o0m1. = (P min Bk — P ycT.pa6.)*Vo/ 40 * Keax=(260-
10)*6.8/40*1.1=38.6Mun

T Bo3sp. = T Bka. + T 06m.=9°"+0**°=10"*mun
P k.BbIxX. = P makc.maa. + 1/2P makc.naa. + P yer.pa6.=45+22.5+10=77.5atm

T pa6. = (P min ouar — P k.BbIX.) * V0 / 40 * Kck=(220-
77.5)*6.8/40*%1.1=22mun

T k.BoIX. = T ouar. + T pa6=9""+0*=9>""""



3agaua Ned
P makc.nag. = (P min Bk — P ycr.pa6.) / 3 = (280-10)/3=90 aTm.
P Bbix. = P min BkJ — P makc.nmaa.=280-90=190 arm.
AT =P makc.maa. * Vo /40 * Kcxxk=90%7/40*1.1=14.3mun
T Beix. = T Bk + AT=02"+0"=02"*mMun

3agaua NeS

T 00m1. = (P min Bk — P ycr.pa6.)*Vo/ 40 * Kex=(290-
10)*6.8/40*1.1=43.2mMun

T Bo3Bp. = T Bk + T 061m.=04""+0**=04**Mun
P k.BbIX. = P makc.nmaa. + P makc.naa. + P yer.pa6.=45+45+10=100aTtm

T pa6. = (P min ouar — P k.BbIX.) * V0 / 40 * Kck=(250-
100)*6.8/40*1.1=23.1Mmun

T k.BbIxX. = T ouar. + T pa6=04"+0>"'=04>*"mMun

3agaga Ne6
P makc.nag. = (P min Bk — P ycr.pa6.) / 3 = (260-10)/3=83.3 atm.
P Bbix. = P min Bka — P makc.man.=260-83.3=176.7 aTm.
AT =P makc.nmaa. * Vo /40 * Kex=83.3%6.8/40*%1.1=12.8mun
T Boix. = T BRI + AT=05"+0"**=05"** Mmun
3agaua Ne7
T o0m1. = (P min Bk — P ycr.pa6.)*Vo/ 40 * Kex=(270-10)*7/40*%1.1=41.3mun
T Bo3sp. = T BKa. + T 06.=10"+00*"*=10*"*mun
P k.BbIX. = P makc.naa. + P makc.maa. + P yer.pa6.=50+50+10=110atm
T pa6. = (P min ouar — P k.BbIX.) * V0 /40 * Kcx=(230-110)*7/40%1.1=19mun

T k.BbIX. = T ouar. + T pa6=10""+0"=10"mun



3agauya Ne§
P makc.nmag. = (P min Bxi — P yer.pab.) / 2.5 = (265-10)/2.5=102 aTm.
P Bbix. = P min BkJI — P makc.maa.=265-102=163 aTm.
AT =P makc.nmaa. * Vo /40 * Kcxx=102%6.8/40%1.1=15.7mMun
T Bbix. = T Bk + AT=12"+0""=12""Mun
3agaua Ne9
T 00m. = (P min Bk — P ycT.pad.)*Vo/ 40 * Kex=(290-10)*7/40%1.1=44.5mun
T Bo3Bp. = T Bk + T 06m.=15"+0* =15 "mun
P k.BbIX. = P makc.nag. + P makc.maa. + P ycr.pa6.=60+60+10=130atm

T pa6. = (P min ouar — P k.BbIX.) * V0 / 40 * Kcx=(240-
130)*7/40*1.1=17.5mun

T k.BbIxX. = T ouar. + T pa6=15""+0""=15""" mun
3anaya Nel(
P makc.nag. = (P min Bk — P ycr.pa6.) / 3 = (270-10)/3=86.6 aTm.
P Bbix. = P min Bk — P makc.nmag.=270-86.6=183.4 aTm.
AT =P makc.nmag. * Vo /40 * Kex=86.6%7/40*1.1=13.7mMun

T BbixX. = T BKI. + AT=124+0"3"=12"3"Mumn.



